


ERROR DETECTION ASKED
IN PREVIOUS YEAR EXAMS




Q1. He commanded me (1)/ as if he was (2)/
my husband. (3)/ No Error (4)

Solution: 2
This is a conditional sentence — use ‘were’ instead of ‘was’
example- Sheetal always treats him as if he were a child.

replace ‘was’ with ‘were’.



Q2. The English is a very (1)/ popular
language (2)/ among south Indians. (3)/ No
Error (4)

Solution: 1
The English represents ‘The people of England not
English language’ . Replace ‘the English’ with ‘English’.



Q3. Had she not known (1)/ about it she should
(2)/ stayed longer. (3)/ No Error (4)

Solution: 2
This is The type 3 conditional which is used to refer to
an unreal past condition and its probable past result.
Structure:-

If + subordinate clause in past perfect (Or had + sub. +
past participle.)+ principle clause — would / could /

should + have + past participle.



Q4.1f you will finish your homework I (1)/ will
give you (2)/ an ice-cream. (3)/ No Error (4)

Solution: 1

In these sentences — the ‘if clause is in the simple
present, and the main clause is in the simple future’.
Structure:- If ... Simple Present ..., ... Simple Future.
Omit ‘will’ in the part (1)



SPELLING ERROR ASKED IN
PREVIOUS YEAR EXAMS




Q5. Select the correctly spelt word.
1. exhail
2. exhoust

3. exhibit

4. exteract

3. exhibit



Q6. Select the correctly spelt word.
1. Seperable
2. Rehersal

3. Veterinary

4. Employeed

Solution : 3



Q7. Select the correctly spelt word.
1. Definate
2. Definete
3. Definite
4. Definiet

Solution : 3



SENTENCE IMPROVEMENT
QUESTIONS ASKED IN
PREVIOUS YEAR EXAMS




Q8. I wish if T was the Principal of my school.
1. If I had been

2. No improvement
3.1 were

4. that I am

Solution : 3
It’s a conditional sentence. ¢ I wish’ is followed by

past simple.



Q9. When it started raining, I ran to the nearer
house for shelter.
1. a near house

2. the near house
3. No improvement

4. the nearest house

Solution : 4. the nearest house



(Q10. We came back because we had ran out of
money.

1. we had run

2. we have ran

3. No improvement

4. we run

Solution : 1
Run(v3)



Q11. If they will get married , they will
probably settle in Mumbai.

1. If they get married

2. No improvement

3. If they had got married

4. If they will be getting married

Solution : 1. If they get married



HOME WORK

Q. Select the most appropriate
synonym of the given word.
FASCINATING

1. appealing

2. boring

3. stupid

4. tiring






